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Did you hear it regarding lesser Kodshim — % nYRw on 2P TP

Overview

XYWIR "M interpreted the mwn (which states that if one found a cow in 25w, if it is
a oritis (also) an 77 and if it is a 73ap1 it is a 2°n7Y), according to n'"Y who maintains
that if one intends to, he can be 271 even 71 nw17p. The R 3 asked perhaps n'"
stated this rule by o>w7p *w7p, but not by 2°%p o°w7p (and in this mwn, this found
7n12 may be a 017w, which is 2°%p 0°w7p). Our NBOIN explains this question.
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If this found 2 is 2%%p 2°w7p, how can we remedy it, for -
= 3112 NYI¥I NIDT 1190 PUINT NN KDY 2ADTHD 1MON) 179N

Even if he intends to steal it, it will not go out and become "7, since there is no
79oun by o°%p owp -
- INVM “NPAN DT N9 DIVTP SWTP NaYYAY

For granted that by 2swTp >w7p like N2 72 "W7P or a NRWVM -
= )02 DY NOYN ST DY PIHINT INDY NN 1

It is justified that they go out to 3> through 7°v» when someone is ¥ in

them (by intending to steal them), but by "»p, where there is no 72°¥», how are they 17112 xx1?!
This is the s'®7 13 question on X°¥y¥IR 1. What can we do with the found 772?!

MooIN asks:
= 99N HINN 19N X2 NRIN 5PDIND NININYY KDY 7D AYH INN 9IRN ON)

And if you will say; what is the s'x7n3 difficulty, for indeed he will not remove it

to become 717, but rather he will bring another 72772, and he will say -
= PNNN NMY XNAN M NI 2N 29D NDIY N ON

“if this found 772 is an 779 I am stealing it (so it is 7277 R¥V), and this 702

UIf the mnma is a 72°p1 it is certainly °%p ow7p and even if it is a 737 it may also be o°%p o°w7p. We are however
discussing a 1.

2 See previous MR 7"7 '01n that the remedy according to X’y '3 was that the finder will intend to steal the 773, thus
removing it w7pa Mwn. (he will then stipulate that if the original 772 was an 79w he is bringing another 72 in its
stead and if the found nnn2 was a o°'»7w another brought 772 will be a on>w). However that remedy will not be
effective if the nn2 is 0°%p o*wTp as MdOIN continues to explain.

3 There is no 72°vn by 0°%p o°w7p (except for the oMK after the 0777 np>1), since the 0°9y2 are (partial) owners of the
1277 (they get to eat most of it). Since there is no 72°¥n, it retains its Aw17P, so how will it be 27nnn.

4 Even though n°a 72 *w1p are not 31 Nw1Tp, but there is 72°yn by them since it belongs entirely to w7pn. It is not
clear why mipo1n mentions nXwvn when he could mention 377 (which is what we are discussing here).

3> He will not be %7mn the found mna2 through a2°1, for it will not become 17711, since it may be 2"pp and there is no
v by 2"pp.
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which I brought should be an 7% instead of the found a2 -
- ©YNYY NN NNSY NN DYV PN 09D DIYTP NYD ON)

And if the found nna2is 9"'pp like a 2on%w, it itself (this found nnn2) shall be offered

as a oomnhw’ -
= 69273 NP NINNI N>N NIN 2299 NI

And he will offer only the found 72 as a o'»7v and the other 7n72 (which he
brought), will be a donated 775p.

NID0IN answers:
- 997 12D IWON INT 9 YN

And one can says; it is impossible to do this -
= $99yn) 79992 NYYN DIV NNSNIN HNT NNNAA PADY W YNV

For we can also be in doubt regarding this found %772 that perhaps it is a 9923 or

a N2 MWYR animal (and not a o°n%W at all) -
= 05V HY MINNI DNIMINN NYIN NDT

Where their pouring of the blood (of the "wym 7121) are not the same as the

pouring of the blood of a 29p ambw -
- 19359579 9195 XYY 100N NINN TUYM 91921 INNNN SNV PIYL DINYYT

For a 2°n>w requires two 07 nuan», while a awy»y 7132 require only one 77102, so

he will not be able to offer the found 72 -
- DIV 1Y PINNY T8 NN

But rather he will have to wait until it receives a 2y —

mMooIn anticipates a difficulty:
=950 ;YN DY HHINND XAN DMIYY OX 290K INY DPINNOY TY N PHNIY NINY NYI X

And the X713 did not want to answer that he should wait until the found 2

¢ The found 2 is offered as a 22w and the brought 772 is offered as an A7w. If the found 72 was an 72w, he was
Sonn it (through 719°13) and is offering (on the owner’s behalf) the brought 71572 as an 77w, If the found mn2 was a 7w
he is offering it as a 27w (on behalf of its owner) and the found 72 is an 7271 N2, See ‘Thinking it over’ # 1.

7 The first born male of a 7n72 is to be given to the 1172 and he brings it as a 1277 on the nam, and it is eaten by 2372,

8 Every year the animals are herded into a corral and each tenth animal ("wyn) that passes through the opening is
brought to 27w as a 127p and eaten by its owners and any guests he invites.

? The blood of the o°’n%w is poured on the northeast and southwest corners of the nam (so when it spreads it is applied
to all four sides of the narmn)..

19 The blood of a 7wym M2 can be poured anywhere on the nam, provided that it is above the 710> (which is found
[mainly] on the northern and western sides of the nam).

11 See footnote # 6. He cannot offer the found 7nA2 as a 017w (which requires minn >nw), for perhaps it is a M1 or
wyn (which requires nrx 710 only). Therefore he did not offer this solution.

12 This is in addition to the initial stipulation that ‘if it is an 77w I intend to steal it and the brought 772 will be offered
as an 1727 (on the owner’s behalf)’. See ‘Thinking it over’ # 2.
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receives a 2%, and then he will say, ‘if the found 72 was a 2"bw, it should be

exchanged for this money (this exchange will be effective) -
- 090 0OV 13T 931990 DYDINN DN DIYP DIVTPT Y11

For granted that »"'»p cannot be deconsecrated, that is true as long as they are

unblemished, however once they receive a 01 they can (and should be 910 on money), so
why did not the X3 offer this solution?!

mooIN responds:
= £V NAT MAPN MY D993 NPT NN NIYWIN %297 19D yYUNT ovwn

For it seemed to X''9 that this which the 71w taught that if the found animals are
males they are offered as m?W and if they are females they are offered as ambw

sacrifices, this means -
$DIMNY 1Y NINNN N2 99N Tay91Y 181 NNNAN NSNY 1910 "N

That as soon as he finds the 712772, he can do this (to offer them for their respective

sacrifices), without waiting until they receive a 2. Therefore he did not want to answer
that wait until it receives a blemish.

Summary
The solution of bringing another animal and stipulating will not be effective since

we are not sure if this found 7172 is a @M%Y or a MWwYM 23, and the 71wn indicates
that the remedy may take place immediately without waiting for a ow.

Thinking it over

1. moon solution (of bringing one 7»72) seems compelling,'® so why did not moIn
introduce this solution initially, instead of mentioning s""wA solution'* that he brings
two nnn3; why bring two when one is sufficient?!

2. mpon offered a solution (which he later negated) that he should wait until it
receives a 0 and stipulate that if it is a 27w it should be exchanged for these
monies.'> However how can he do this perhaps it is a 7192 or wvn?

13 See footnote # 6. Obviously we are discussing the question before nooIn refuted it.
14 See 7781 *271 "7 *"wA and KR 7" 'O,
15 See footnote # 12.
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